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Which among the following is not a true
statement?

1. When there Is price rise, the Reserve bank
reduces the money circulation

2. Rising prices affect everyone in the same
way

3. Government uses import-export policy to
regulate the prices of essential goods.

4. When there is general inflation, wholesale
price index rises rapidly.

15



M: “83 HDHoE, FOBE ogrers HoWsDHD Soy). Hdo

BSOYOTNY,080 HBEPHOBV EDB0 HOO0WY KRG

N: “83 HDOWOS® RH),tH DY, NPIB0 B N

DNODHETe HOWSDDHE. FPBE L0geen HODSCERHI&

560

0 D Do o € M, N o 00w Hdo Ree

€583700 LD Y.

1. M Hog505nmeesd Bodd Dok, N SrpdH&eaed

2. M 505580508, N Sr555050rme Bodd HokEth

3. M, N en 85t» Hogsoiome Hoé&Hd, 520 299,
TOPOK WODDTH

4. M, N e 3560 SnddE0wmS, 500 298, PO

WO DDT
AS |



M said, “This world and worldly pleasures are not AS |
Important. We have to think about the life after death

only.”

N said, “Everything that affects us now in this world is

Important. Worldly pleasures are not something to be

avoided”

Based on their statements we can assume about M and

N that:

1. M was a scholar of middle ages and N was a
humanist

2. M was a humanist and N was a scholar of middle
ages

3. Both are scholars of middle ages but belong to
different branches

4. Both are humanists but belong to different branches
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In the context of early workers
movements in England, the way
of protest shown |n the flgure
related to: =
1) Socialism
2) Capitalism
3) Luddism
4) Anarchism
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Consider the following statements A and B and
choose the correct one among the options given
below.

In India, after 1991,

A: “Foreign trade in farm products began”

B: “Farmers income started to fluctuate a lot”
1) Both ‘A’ and ‘B’ are true. B is a reason for A.
2) Both ‘A’ and ‘B’ are true. A is a reason for B.
3) Both ‘A’ and ‘B’ are False. B is a reason for A.
4) Both ‘A’ and ‘B’ are False. A is a reason for B.
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AS I

Instruction: Read the statement
carefully. It is given 4 responses.
Ildentify the correct response
according to your own thoughts
and opinions. If you see more
than one correct responses, then

choose the more appropriate one
as per your opinion.



: AS i
Q. “Women, the world over are being severely

dominated by men”

1. Yes. This is true. Women are still being completely
dominated by men in every field all over the
world.

2. No. This is not true. Male domination is still
there, but not as much as it was during medieval
and early modern times. It has been decreasing
gradually.

3. No. This s not true. There Is not at all any
domination by any gender now a day:.

4. Yes, domination is there. But men are being
dominated by women.
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Q. “James I, the King of England believed that the

absolute powers of the king were given by God
and kings ruled by that divine right. So he should
not be controlled by the Parliament”

. James | was right. Only by the Gods grace one
could become a ruler.

Not the God, but the People decide the rulers. So
any ruler must obey the power of the Parliament.
Parliament or any organisation, must obey the
orders of the ruler. It should not question him.
Parliament is not at tall necessary. A ruler need
not consider the peoples’ opinion in decision
making.
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AS Il

Study the following information and answer the questions
given below.

Judiciary Executive Legislature
Contlol

Judge King
(745 members)

:_{>
j s

Ministers
Electors

(50000 men)

ﬁr VOIE

VOTE

National Assembl y

(about 4 million of a

ACTIVE CITIZENS: Entitled to vote. Sofulation of 18 million)

(about 3 million men,

PASIVE CITIZENS: No voting rights. women, children and youth
below 25 age)

1. The political system shown above
was prepared by the National

Assembly of:
1) France 2) England
3) Germany 4) Russia

2. One undemocratic aspect of this

system was:

1) To vest the power to make laws in
National Assembly

2) To separate the powers and assigning
them to different institutions-the
legislature, executive and judiciary.

3) To give Right to vote to only ‘active
citizens’

4) To make a constitution and limiting the

powers of the monarch.
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Study the following information and answer AS lli

the questions given below. In which layer of the

atmosphere are the ultra
violet rays of the Sun

i A | 1
5 absorbed?
;

expsphere 1000
800

600
400

I

“‘-f“ spacecraft

1) Troposphere

zmé 2) Stratosphere
el | 3) Mesosphere
s e TRE 4) Thermosphere
il In the context of broad
layers of atmosphere, find

the odd man out.
Mesosphere, Thermosphere,
Stratosphere, Troposphere:

1) Mesosphere

2) Thermosphere

3) Stratosphere

4) Troposphere

thermasphere 200

| 4

1

;

. &)
ST ‘!‘( azone layer Ig

37
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The greatest portion of the fresh
water Is in the form of ice and
permanent snow cover. Out of the
remaining fresh water, the largest
proportion:

1) Is in the lakes and rivers

2) EXxists as the moisture in atmosphere

3) Exists as ground water
4) EXxists as moisture in soil.
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Which among the following
statements is/are true?

A. India is the largest producer of pulses
In the world.

B. India Is the largest consumer of pulses
In the world.

1) Alis True and B is False.

2) Als False and B Is True.

3) Both A and B are True.

4) Both A and B are False.
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Which among the following
countries surpassed Britain in
the production of steel, even if It
was industrialized lately?

1) Spain

2) France

3) Germany

4) Belgium
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The most populous
country of the world Is:
1) India

2) China

3) Russla

4) U.S.A.
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On the Planet Earth, the entire
weather phenomenon takes
place In

1) Troposphere

2) Stratosphere

3) Mesosphere

4) Thermosphere
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Which of the following statements was not true
regarding the aftermath of the invention of
printing press?

1) Students did not have to depend solely on
lecture-notes

2) ldeas, opinions and information moved
more widely and more rapidly

3) The kings and priests felt happy and
welcomed it

4) The reading habit was developed among the
people
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When almost all of the Europe was ranged
against France in a war, France could stand
and fight. Which of the following was there
behind such military strength of France?

1) The idea of the people being the sovereign

2) The inspiration given by the Emperor
Napoleon

3) The reappearance of monarchy

4) World’s biggest army and most modern
weapons
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The water body that contains
the world’s highest salinity is:
1) Dead sea

2) Lake Van

3) Baltic sea

4) Hudson Bay
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